Factorization

Solution
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3a+6b+12c =3(a+2b+ 4c)
—4x’ — 6y —20y" =—2(2x" + 3y + 10y°)

—27 —15t— 18t =—3(9 + 5t + 6t°)

abc—2c+ab—-2
=c(ab—2)+ab-2
=(ab—-2)(c+1)

X +y—xy—x
=x'—xy+y—x
=x(x—y)—(x—y)
=(x=y)(x-1)

ab+14+a+b=ab+a+b+1
=ab+1)+b+1
=0b+1)(a+1)
mn+l—-m—-n=mn—m-—n+1
=mn—-1)—-(mn-1)
=n—-1)(m-1)

2ab — bc+ cd —2ad
=ba—c)+d(c—2a)
=Qa—c)(b—4d)
3mn—2m+4—6n
=m@Bn—2)+2(2—3n)
=Bn—-2)(m-2)

16m’n —4m’

= 4m’ (4n — m)
3a(b—2c)—2(b—2c)
=((b-2c)(3a—-2)

12x°y* + 4xy’ — 6x’y
= 2xy(6xy +2y" — 3x)

4b* — 49
=0b)’=-7
=Qb+7)2b-7)
m’—9n’
=m’—(3n)’

= (m+ 3n)(m—3n)

10.

(©)

(a)

(b)

(o)

(a)

(b)

(©

(a)

(b)

(b)

64r’ — 255
= (8r)"—(59)"
= (87 + 55) (87 — 5s)

a’—12a+ 36
=a’'—2(a)(6) + 6
=(@—6)’

81+ 18b+ b’
=b"+18b+81
=b0"+2(0b)(9)+9°
=(b+9)°
c—22c+121
=c=2(c)(11) +11°
=(c—11)°

38— 30t + 75 = 3(£ — 10t 4 25)
=3[ =2t(5) +5]
=3(t—5)°

96 + 48y + 6y° = 6(y" + 8y + 16)
=6[y +2y(4) +4°]
=6(y+4)°

16y" — 36x° = 4(4y” — 9x7)

=4[(2))" - (3%)°]
=42y +3x)(2y — 3x)

25m’ — 36m° — 5m — 6n

= (5m)*— (6n)°—5m — 6n

= (5m + 6n) (5m — 6n) — (5m + 6n)
= (5m+6n)(5m—6n-—1)
81x" — 256

=(9x")"—(16)°

= (9x" 4 16) (9x° — 16)

= (9x" 4 16) [(3x)* — 47]

= (9% 4+ 16)(3x +4) Bx —4)

=y ty+x=(E—y)+(x+y)
=+ Ex—p)+x+y)
=x+y)x—y+1)

9m* — 9 4 24mn + 16n’

= (9m* + 24mn + 16n°) — (3)*

= (3m +4n)* — (3)°

=Bm+4n+3)(3m+4n—3)
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Factorization

11. (@) 6(x—y) +3(x—y)(k+2)
=3(x—y)2(x—y) + (k+2)]
=3(x—y)2x—2y+k+2)

(b) 2a+c)(a—>b)+ (b—a)(c—2a)
=(a—b)Ra+c—c+2a)
=4a(a—")

(c) am—bm—an+bn+a—">
=m(a—b)+n(—a+b)+a—>
=(a—-by(m—n+1)

(@ (5x—2)(y~3k) — 2~ 593y~ k)
=(Bx—2)(y—3k+3y—k)
= (5x—2)(4y — 4k)
=4(5x—2)(y—k)
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